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Ekstraopgave 1 
 

public class Fraction implements Comparable { 
    public Fraction(int a, int b) { 
        if (b == 0) 
            throw new RuntimeException("Fraction: 0 in denominator"); 
        if (a == 0) { this.a = 0; this.b = 1; return; } 
        if (b < 0) { a = -a; b = -b; } 
        int d = gcd(Math.abs(a), b); 
        this.a = a/d; this.b = b/d; 
    } 
 
    public Fraction(int a) { this.a = a; this.b = 1; } 
 
    public Fraction add(Fraction f) 
      { return new Fraction(a * f.b + b * f.a, b * f.b); } 
     
    public Fraction subtract(Fraction f) 
      { return new Fraction(a * f.b - b * f.a, b * f.b); } 
     
    public Fraction multiply(Fraction f) 
      { return new Fraction(a * f.a, b * f.b); } 
     
    public Fraction divide(Fraction f) 
      { return new Fraction(a * f.b, b * f.a); } 

     
    public int compareTo(Object obj) { 
        return subtract((Fraction) obj).a; 
    } 
      
    public boolean equals(Object obj) { 
        Fraction f = (Fraction) obj; 
        return a == f.a && b == f.b; 
    } 
 
    public String toString() { 
        return a == 0 || b == 1 ? "" + a : a + "/" + b; 
    } 
  
    private int a, b; 
 
    private int gcd(int u, int v) {  
        return v == 0 ? u : gcd(v, u % v); 
    } 
     
    public static void main(String args[]) { 
        Fraction sum = new Fraction(0); 
        for (int i = 1; i <= 10; i++)  
            sum = sum.add(new Fraction(1, i)); 
        System.out.println(sum);  
    } 
} 
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import java.math.BigInteger; 
 
public class Fraction implements Comparable { 
    public Fraction(long a, long b) { 
        this(BigInteger.valueOf(a), BigInteger.valueOf(b)); 
    } 
   
    public Fraction(long a) {  
        this(a, 1);  
    } 
  
    public Fraction(BigInteger a, BigInteger b) { 
        if (a == null) 
            throw new RuntimeException("Fraction: numerator is null"); 
        if (b == null) 
           throw new RuntimeException("Fraction: denominator is null"); 
        if (b.compareTo(BigInteger.ZERO) == 0) 
           throw new RuntimeException("Fraction: 0 in denominator"); 
       if (a.compareTo(BigInteger.ZERO) == 0)  
           { this.a = BigInteger.ZERO; this.b = BigInteger.ONE; return; } 
        if (b.compareTo(BigInteger.ZERO) < 0) { a.negate(); b.negate(); }  
        BigInteger d = a.gcd(b); 
        this.a = a.divide(d); this.b = b.divide(d); 
    } 
  
    public Fraction add(Fraction f) 
      { return new Fraction(a.multiply(f.b).add(b.multiply(f.a)), 
                            b.multiply(f.b)); } 
       
    public Fraction subtract(Fraction f) 
      { return new Fraction(a.multiply(f.b).subtract(b.multiply(f.a)), 
                            b.multiply(f.b)); } 
       
   public Fraction multiply(Fraction f) 
     { return new Fraction(a.multiply(f.a), b.multiply(f.b)); } 
    
   public Fraction divide(Fraction f) 
     { return new Fraction(a.multiply(f.b), b.multiply(f.a)); } 
  
   public int compareTo(Object obj)  
      { return subtract((Fraction) obj).a.compareTo(BigInteger.ZERO); } 
  

  public boolean equals(Object obj) { return compareTo(obj) == 0; } 
  
    public String toString() { 
     return a.compareTo(BigInteger.ZERO) == 0 ||  

           b.compareTo(BigInteger.ONE)  == 0 ? 
            "" + a : a + "/" + b; 
    } 

 
    private BigInteger a, b; 
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    public static void main(String args[]) { 
        Fraction sum = new Fraction(0); 
        for (int i = 1; i <= 100; i++)  
           sum = sum.add(new Fraction(1, i)); 
        System.out.println(sum); 
    } 
} 
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